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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

- YRt fewt T sl wron # ¥ 1 qdveneff S feran &
e foredt oft Tk 9T oh1 S S TRl § | (37T, a1 < fe=t
EICDEID)

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T4 HISA/ TR F § W E | W T H =R T 3R 9
FHAE I T |

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Ihfeush '’ YRR 1§ FEeh T i 40 § qen
YT &1 AR YRR AT 7 SR 3T Fd 31 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

U Ueh o SR, ATHAR IAE-Yfert R & g 91 §)
URT S ! ITR-FehT H W Teh & ST & 63 ST =Ted |

PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.

T ek o foTQ Afeehan S0 S Wes guet Hyiia =t T8
B T S T WG], WNT Tek i ST-YReaaht STHT
A o qYER o SO | qerty, FHeiRa w ue | 9
W Weh JU A aTet Treaelt 9T Ueh whi Soi-gfent fFteres
1 GO & A oS, W S BT STR-JFedehl of Tohd ¢ |

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.

e, Suftafa-ufierr W ewmeR forg fomm 3 e
A , TrivereR Rt GiY o, odter efet/ vt 8l B
TR €1 TET & i WY, Genelt sl 39 Wiggel/ U |
ST i eh fear S|

Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.

JeA-Gf&Teh1 sl @ier o e e o gvam e S o
I T § Tgel SHIGAR Siid & I8 GAfead wX of foh
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.

e : afy fet deertor § =i e/ faunfa o S & o o9 sTaen # 3l Teahior & ’-T R |

Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(|t Uil ok IS / Answer all the questions )

1.

1.1

1.2

ol Uik U9 oh ST ok RS [9ehed 1T 7T
gl T Had g fashew g ot 3@
gyT U & WY IqTed HITA T
‘TR W uAs H, 3aH fou g
ol o AR, St Y|

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"
answer sheet supplied with the question

paper, following instructions therein.
(1x10)

Tafyd @ 9 Y Hedl bl e & o
= 4 9 fh8 NET e o1 ST foa
T HeRdl B 2

(A) I 7ol TRRZFR

(B) WA

(C) TS heterl

(D) A et

Which of the following .NET components
can be used to remove unused references
from the managed heap ?

(A) Common Language Infrastructure
(B) CLR

(C) Garbage Collector

(D) Class Loader

frfafed § ¥ &M NET YR % ST
9 77

(A) System.Object

(B) System.Type

(C) System.Base

(D) System.Parent

Which of the following is the root of the
NET type hierarchy ?

A) System.Object

(

(B) System.Type
(C) System.Base
(D) System.Parent

1.3  TIRSS shelaed el GR=eld il © ?

(A) 9 TREHIE & HHN W T @I D

(B) e Agfws® e §
(C) < Tfterehs 15 e 9§ e1foss w9 |
=l @I

(D) WK H 9 hIS el
When does Garbage collector run ?

(A) When application is running low of
memory

(B) It runs random

(C) When application is running for
more than 15 minutes

(D) None of the above

1.4 <& SYANTRAl 99 U 1 STUY HLAT §,

ASP.NET USl &1 U&clT o< -1 Bidl § ?

(A) PreLoad
(B) Load
(C) Preinit
(D) Init

Which is the first event of ASP.NET page,
when user requests a webpage ?

(A) PreLoad
(B) Load
(C) Preinit

(D) Init
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1.5

1.6

1.7

3TN & asp.net 1 ITAN HId Y Witk
iHA T =6, @ Ffafed § 9 wA-a
I IS T L ?

(A) T &2

(B) TSR

© fresy

(D) TR

If we want to add graphics using asp.net
which of the following web control will
you use ?

(A) Link Button

(B) AdRotator

(C) Grid View

(D) Layout

frfafed § & HH- oR.eRTE. & fag
fewice ymTofeRto Hre 82

(A) i HIE

(B) faer

(C) dfFs ShedereH

(D) =€ T

Which of the following is the default
authentication mode for IIS ?

(A) Kernel Mode

B) Windows

(
(C) Basic Authentication
(D) None

T WAl T T Al A YAshe ol
e € 2

(A) TR

(B) od Had

(C) o=t

(D) <9 ®H

What is a web application running on
multiple servers called ?

(A) HTTP

(B) Web Servers

(C) WebPage

(D) Web farm

1.8

1.9

1.10

web.config % HIZTH § GHTORTOT & @m
L ?
(A)
(B)

IR TelHie I e Fh
AL TfeHe <l A Hleh
(C) eMeEfedl TferHe =l WA Hleh

(D) 1B TfeHe &l wWiHa wih

How to implement authentication via
web.config ?

(A) Include the authentication element.
(B) Include the authorization element.
(©) Include the identity element.

(D) Include the deny element.

-9 ASP.NET 3ifesiae Flige 3R FSsK
i feafd 1 TIhEere Y €2

(A) TAhIM Alesere

(B) HHA oo

(C) IHIY Afesiare

(D) R sifestae

What ASP.NET object encapsulates the
state of the client and the browser ?

(A) Application Object

(B) Session Object

(

(

C) Response Object
D) Request Object

fewice ®9 §, Jd 319 I3 2TSYE KT *H1
ST X €, A 5T WE | g8 H fea
ST 2

(A) ToF 39 TR W

(B) ok FEe W

(C) o9 TR, fohelt off Urerdt Wely, 37 SSsi
(D) W Tt

By default, when you use Page Output
Caching, at what location page is cached ?
(A) Only on web server

(B) Only on Client

(C) Web server, any proxy servers, and

browser
(D) All of the above.
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

=frer feam e ween faawor ot W@ & sterar
A | Teh Td Suga faehed I 3 3/
UIT U & WA IUCT™ &I Y
“ TR, S ek W, e fou T fden
& IENR, T i | (1x10)

T Tohal NET dll § 3mfqd o9 81 Hehdl
g

TG, (SOAP) T, (HTTP) &1
Y4 Teh AT YR a3 & &9 H STANT Hidl
7

T $HeRed, TR oh Tahldeh Wl d
= ¥

T H 17 31 fafar wite gt €1

T TH.T. IR, SEIes JEfET @ik
&Y WA 1w g )

<& foeh o g €1 e €, aitm
F STTER rey-dfers & 1

ADO.NET €21 92 e T9-HUR S26d
M 3R GEIUd S hl AT YeH Ll B

T fa=n § s 9 ifus machine.config
TRIEA B TRl © |

et faee e faee =t gamn § e iR
GRS

wfeh THRL.TA.UA. (XML) %4 Gael &l &,
ST <Employee> 3R <employee> Teh &
g

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the "OMR" answer sheet
attached to the question paper, following
instructions therein. (1x10)

A single .NET dll can contain unlimited
classes.

SOAP uses HTTP as its only transport
mechanism.

Multiple inheritance is different from
multiple levels of inheritance.

Schemas consist of properties and
methods.

XML technology is a hybrid of document
processing and database processing.

Documents that have no DTD are by
definition not-type-valid.

ADO.NET provides the ability to create
and process in-memory databases called
datasets.

There can be more than 1 machine.config
file in a system.

Release builds are smaller and faster than
debug builds.

As XML is not case sensitive, so
<Employee> and <employee> are same
elements.
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3. ORI X oh ITaa] 3T ATFIITI GhT ShicTH Y o ITeE SR ATGRAIT oh ordl ATeiehl Hall-erd 31l oh
1ot fre i | g2 1T FEnt ot ITet st U, I T ST Rl & TR SNUHLAR. ' 3T AR

Ut i (1x10)
X Y
3.1 | Net trreeh o1 STeT T TIGaIThT (A) |stfosare
3.2 |afoer "&&" (B) [%se wre
3.3 | Net WohR % T &1 &2 (©) |fregim
3.4 [a7 a1 T, (IIS) (D) [ADO.NET
3.5 o oo TIREH 1 AAfRId H Al FIS h (E) |name n = name();
__________ HE 7
3.6 |5 T & offsree wl ferR w wmfdeam | () |cifforper affaiex
3.7 |=1g a1 oI 1 axiehT Tk R 1 g o1 hice (G) |[&dmt 2 Sfaee
UM §
3.8 |dnmifes &9 W I3 STRIYE HITAT ] SR (H) o meix
FH & fag
3.9 [ wear foreiawn & woE o (I) [test n = new test();
3.10 | ASP.NET % W 2R aen SAfET fied € (J) |Bottom-up
(K) [if (stremp (s1 ,52))
(L) |Event-driven
(M) |Object-driven
Page 5 SPACE FOR ROUGH WORK M4.1-R4-09-21



3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)

in column Y. Enter your selection in the “OMR” answer sheet attached to the question

paper, following instructions therein. (1x10)
X Y
3.1 |Data access technology of .Net Framework (A) |Object
3.2 |Operator "&&" (B) |Managed Code
3.3 |Root of the .NET type hierarchy (©) |Response
3.4 1S (D) |[ADO.NET
3.5 |Code that targets the Common Language (E) |name n = name();
Runtime is known as
3.6 |To declare an object of class test syntax is (F) |Logical Operator
3.7 |Way to find if contents of two strings are (G) |Control To Validate
equal
3.8 |To programmatically configure page output (H) {Web Server
caching
3.9 |Property common in every validation control (I) |test n =new test();
3.10 |Processing model used in ASP.NET is (J) |Bottom-up
(K) [if (strcmp (s1, s2))
(L) |Event-driven
(M) |Object-driven
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4. %mwﬁﬁ%ﬁﬁvﬁﬁwmmwaﬁmﬁ%mﬁmw%l oy
Iuge fahed oA 3 8 w9T U & Wiy feu u ¢ sfiumeiR ' ST uek |, S6w feu u

T o TTAN, Tof i | (1x10)
(A) [System.Web.UI Control (B) |System.Control Q) Ffefagera
(D) |gfe=m (B) |wirag (F) |o1 o7 .
(G) |vouet Foeem (H) |cgeruet wmEe () |afeege
(D) |Sren agerer A= (K) |forre sifesae (L) |aet-ciaa
TR JRmhA
(M) |atissiere 2=
4.1 ESRIECE (IsPostback) U9l ¥ SererRd e gl
4.2 3TE.3ME. 0. & fay fewice yamieto Og Tl
4.3 oft TR FIA0l o STYR o 1 i @ ¥ A R
4.4 ASP.Net ¥ T I3 Uk 99 B & i@ YAl 301 & IR ! defifd
FIAT T
4.5 FAE® TTE.H. § 99 WS 9 Hafud et SHerd o Hereel | Hufed i T8 off |
4.6 TSHIMET TH.F T ok SoH § e o T T 3ifestare T ITART |
4.7 C# 3R ! STIATT <&l <l |
48 CLR %1 NET ¥HFF T
4.9 TESNTH. & U0 &9 g
4.10 ST, ¥h | Th 967 BT H &9 R H gftafda s 2
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list

below. Choose the most appropriate option, enter your choice in the "OMR" answer

sheet supplied with the question paper, following instructions therein. (1x10)
(A) [System.Web.UI.Control (B) [System.Control (C) |individual
(D) [boolean (E) |Anonymous (F) [1IS
(G) |SQL Connection (H) |SQL Client (I) (Multiple
(J) |Java Virtual Machine (K) [Simple Object (L) |Multi-level
Access Protocol
(M) |Object type
4.1 is the DataType return in IsPostback property.
4.2 is the default authentication mode for IIS.
4.3 is the fully qualified name of the base class of all server controls.
4.4 In ASP.Net fragment caching refers to the caching of user controls within a web

form.

4.5 In classic ASP all Web site related information was stored in the metadata of

4.6 Usea object to connect to a Microsoft SQL Server Database.

4.7 C# does not allow inheritance.

4.8 CLR is the .NET equivalent of

4.9 SOAP stands for

4.10 Boxing converts a value type on the stack to an on the heap.
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9T &1 / PART TWO

(fordl = wosil o SRS/

Answer any FOUR questions)

ASP.Net § 39aTsy g foee 39

3TTegH & A STl |

T O 3R 221 TerR & o9 FHR

T hi |

1-100 & = AYsT gE&st &l fue
HE & U T C# =i fad |

List all the built in objects available

in ASP.Net.

Differentiate between a DataReader

and a DataAdapter.

Write a C# code to print prime

numbers between 1-100.  (5+5+5)

ASP.NET TSl @S 9Eehdl 3R 3h
=00 Y == Y|

HIAT TS TAeeH o foaed Ated
S THok 1Y o TN == Y |

C# 3R VB.net 1 a1 R fooma
T R

Discuss ASP.NET page life cycle and
their stages.

Explain the Execution model of
Common Language Runtime along

with its advantages.

Compare and contrast C# and
VB.net. (5+5+5)

TH 3R I iR R 3|e ey 9,
VB.net. § %R ¢4 1 3TN Hd Y
A AL

ASP.NET ¥ %i9-9s Wit & oIk o
ISTET Hfed 9=y |

ASP.net § %&H Held 3R IR Hela
o S SR T |
Create an array and then loop

through it using the for loop in
VB.net.

Explain about cross-page posting in
ASP.NET with an example.

Differentiate between Custom
Control and User Control in
ASP .net. (5+5+5)
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T 2§27 TRl W R e %
SN kY == R

C# 1 I AI5% Isfehel T IUM hi |

Global.asax FIEd i N JfHeht §?
39 fafyat & 9\ gad, o1
Global.asax ®Isd H qfafea famanr <
bl € |

What is a namespace ? Explain the

use of any four namespaces.
Explain the thread life cycle in C#.

What is role of Global.asax file ?
Name the methods that can be
defined in Global.asax file. (5+5+5)

ADO.NET 3ATehiceFaR skl g0 i |

Dataset.Clone 3 Dataset.Copy &
el S T |

Explain ADO.NET architecture.

Differentiate between Dataset.Clone
and Dataset.Copy. (8+7)

-000-
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